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BES-019 : TEACHING OF SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
How do you teach science to elementary school 
children using constructivist approach ? Illustrate 
your answer with examples. 

OR 
Discuss the various stages of 5E instructional 
model with examples. 

2. Answer the following question in about 
600 words. 
Which method/strategy do you use to teach 'Air 
Pollution to elementary school children ? Design 
any three activities to explain the causes and 
effects of air pollution. 

OR 
How do you explain 'soil erosion' ? Design any 
three activities to facilitate children to understand 
the causes of soil erosion. 
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3. 	Answer any four of the following questions in 
about 150 words each. 

(a) What is meant by scientific enquiry ? What 
skills are developed among children through 
scientific enquiry ? 

(b) Briefly describe the various steps of a Unit 
Plan. 

(c) What is a concept map ? Select any concept 
from Environmental Studies and prepare a 
concept map. 

(d) What are the indicators for the skills that 
are to be assessed in science learning ? 

(e) Discuss any two methods of teaching 
science to children with visual impairment. 

(f) Explain the concept of 'Scaffolding' with an 
example. 

	

4. 	Answer the following question in about 
600 words. 
As a teacher, what activities would you design to 
teach the following concepts : 

(a) Conductors and insulators 

(b) Photosynthesis 

(c) Solute, Solvent and Solution 

(d) Convex and Concave mirrors 
Design one activity for each of the above. 
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